Bas SHLOT 0so) g o 44 0 o e
+1 -1

® 1 @2 @) @ 4 ® 5
34+i a-i  (3+i)(1-i)+ 1 +i)a-i)

I+i 1-i

(141 -i)

:4—2i+(a+1)+(a—1)i

2

2

sje] o] W57} Hleid 314 1

a=3

T T

a+5+ (a-3)i

o] o]ofof SRR a—3 = 0




SA (x=2) + 2y +3)i = -Ti & WESt= A x, yol ot x+y

[e X |

o #e? (& i= V-1)

x-2=0,2y+3=-7
SoX=2,y=-b




2+3i

~ & Al4tstA?
3—1
D 3+ 11i ® 9+ 11i 3 3+9i
3+ 11 9 811' 10
+ 11 + 11z
10 © 10

B

2+3i  (2+43i)(3+1)
3—i  (3=0)(3+i
6(—3—1)—(111' )

s ih

10




4.

R i

@m:i+2

® V2 iiz Vi

5O
F[o

® 39 =342




o b

A

T z=(2+0)a®+ (1+4i)a+2(2i-3)°] =35 of, A
()

3 )
® -2 @1 @5 ® > ® 3
z=(2a>+a-6)+ (a*+4a+4)i
ool B2 24 +a-6=0
= (a+2)(2a-3)=0
(=1 a:—QE%a:g
JHY g =299,
a® +4a+ 4 = 00°] Hoj £357t AHHA et

3
a=—

2




2 T2

Fa+bo 7k

La+b=-10, b—a=0




1+ V2

3 A uff, 9x% — 6x + 5 2] Bk2?

X

® -2 @ -1 ® o0 @1 ®)2

~&B

1+ V2i

X = o
3

3x =1+ V2i
3x—1= V2i
FHS A|FIH 9x2 —6x+1=-2
S9x2 —6x = -3
9x% — 6x + 59 A 9x2 — 6x7} —30|R2 -3+ 5 =2

[R=5=3




® o0 © Q@ ® ©, 0

z=a+bi(a bEAFZEE

@ z-z = (a+ bi)(a - bi) = a®

© z+7z = (a+ bi) + (a—bi) = 2a (A=)

© z-z = (a+ bi) — (a— bi) = 2bi

b=0°]H A4, b+ 0 °H 5|50t

@ @z+1)Z+1) =(a+bi+1)(a-bi+1)
= (a+ 1+ bi)(a+1-bi)
= (a+1)%+52 (2F)




9.

S (1 +i)z+ (2z-3i)i=0S U=

®3+9i @ -3+9i ® 3-9i
9. 3 9 .
® 515 &)1 " 10

~&B

t—atbi(a b A2 EowW
(L4 i)(a+bi)+ {2(a+bi) - 3i}i=
(a+bi+ai—b)+ (2ai —2b+3) =
(@a—3b+3)+ (3a+b)i=0
24571 A7 22 279 glato]
a-3b+3=0,3a+b=0

= A8 Astel 24

_.3 ,_9
710077 10
3 9
1= —— + —




2n
10 (g) _ -1 g WEShE A o Ftol ofd A2 (
i=+V-1)
@ 2 @6 ©) K @ 10

(&) -G -

"=-1°lAEslHAH A n=4dm+2(m>0)
®:8=4x2+0







12. /22 - D70l 447} B A2 B A% x5 $TL?

® -1 (@)0 @1 @ 2 ® 3

~&B

V-x2(x2 - 1)2 = /x2(x2 - 1)%
= Va2 /(2 - 1)3i
=|x|-|x®=1]i
=lx|-|x+1]lx-1]i

I38B2 x=0, 1, -1¢ o -2 00] =}




13.

7= (1+)x®+ (2—i)x—8~-2i° th5}te] ;2 < 02 W=5

o] ghe FohE(R, i = V1)

z2=(x*+2x—-8)+ (x* - x-2)i

=(x-— 2)(x+4) (x+1)(x— 2)'
84, 22 < 0914 z= «5|50]B
SLox=-4




14.

SA (2 =3x+1)+ (0 - 1)i = -1 + 3i2 WZ3H= A5y, yo
take] xy o 2AgE2?
®© -4 @ -2 ® -1 @ 2 ®)4

ARl 5|42 Lpzo] Azt
a2 -3x+1=-1 y°-1=3
x=1FE 2y =12

(xy©] 2Hgh) = 4







16. o= A4tstolzt

T4i+ i34 200

it

\VARR 4
0
iy

B

1+iti® 4. 2000
=1+ @+ +P+) + @+ +"+8)+ -
"-+(i2001+i2002+i2003+i2004)+(i2005+i2006)
=1+@G-1-i+1)+@E-1-i+1)
4o+ ((i-1-i4+1)+(-1)
=1




é
ol
ﬂ
€

|

3z-2

1 1 1
D 1 @ 3 ® 3 @1

1
%; _Ei;-gmmwwELﬁ%

ot =

z2+z7=1 z2=2
z+1 Z+1

32-2" 3%2-2
2Z+ (z+72)+1

97-6(z+72) +4
24141

18-6+4

ww =

25t







19.

The % (24 3i)z+ (2-3i)z = 25 THESHE Bad 19 AGE? (
7 29 el Bas)

OR @ 174 ® 2 7

@ 37 ()74 Bt

Z_a+bl§73- Eﬂz: bl(%’a’b%gé_)olgiéqa

Alof t JstA
(2 + 3i)(a + bi)
(2a — 3b) +

2(2a - 3b) =

S 2a-3b=1

w2t 24 -3b =18
ojlm=Z A9

23& TEStE 7 T

+ (2 - 3i)(a—bi) =
(3a+ 2b)i + (2a — 3b) —

HH=35t= g, b=

(3a + 2b)i =2

-2l

3

T




a= lzﬁi"e‘ﬂli,ﬂ}%iﬂ%%%ﬁ%E%ﬂ%ﬁ%q(%
Lo AeR A
@ a*+a+1=0
© l+a+a?+---+a¥=1

_a'-|-3 Q) s !
@Z +1 = 'L _3
ON® @0 .,0 ®©0.©
@®’@ @@a@;@

-1 '
@:a:+®72a+1:\/§i

Oc}: _‘%_7\1],1_-5]:'/\—1 Z‘]F‘,]o]—‘:qa' +a+1=0

O:a-1)(e®+a+1)=0,a®=1

l+a+a®+---+a

=@’ =1("a’+a+1=0)

=l+e+a?+a®l+a+a?)+---+a®®

— b

~1- V3
@:EZT\/_I,(Z+6=—1,(1621
_a+3 _ @+3
‘T %1t mr1
__ae@+3(et+a)+9 1-349 7
“T la@+2@ta)+l 4-2+1 3
© ol BUTE tha st ol J7 AR 4 3k,

_—l+\/_l
a 2
=>2a/—|—1:\/§i,01—|—3=5+2\/§l
Ca+3 543
204+1  24/3i

51 V3

23
s «/3—51X«/3+5i_z

23 23 3




